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HttpGet requezt = new

U ent. execute (reques‘t);

HttpResponse responsy/etintity();

“ttpEntity entity
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HttpClient androidClient = TindroidHttpClient.newInstance(“name”™)

HttpGet request = new HttpGet (httplrl) ;

HttpResponze responze = androidClient . execute (request)

HttpEntity entity = response. getEntity();

/f Read and Write
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Tenceni B



HifclE : 970934;%

NI

> I ARATRIE B ROR, HB5E k!

B IR

ZHRENE, ENLIZE

a6

469684 TiHElEmEN R, nks48.3
A FEERT IR 87,155 F), AmESl

1400ms

1200ms

1000ms

800ms

600ms

400ms

200ms

Ooms
00:00 01:40 03:20 0500 0640 0820 1000 11:40 13:20 1500

=

16:40 18:20 20:00 21:40 23:20

— EEHAT 2013-08-07 £3i:630(23:55) I$/8:1328(11:00) B{£:527(01:50) 13{H:726
— ImEREAT 2013-08-07 BHi:558(23:55) [§/H:999(05:05) B{f:472(01:50) J{EH:642

Tenceni i




THANKS!

Tencent iR



